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Marking Scheme 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination,2025 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/4/2) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totalled up and written in the left-

hand margin and encircled. This may be followed strictly. 
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8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view 

of the reduced syllabus and number of questions in question paper. 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:-  

● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 

the title page, correctly totalled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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MARKING SCHEME 

Senior School Certificate Examination 2025 

ECONOMICS   (Subject Code–030) 
[Paper Code: 58/4/2] 

Maximum Marks: 80 

Q. 

No. 
EXPECTED ANSWER / VALUE POINTS 

Marks 

SECTION -A 

(Macro Economics) 

1. Under the __________Exchange Rate System, the Central Bank can control the foreign 

exchange rate in a range bound manner. (Choose the correct option to fill in the blank) 

(A) Fixed 

(B) Flexible 

(C) Managed floating 

(D) Gold standard 

Ans. (C) Managed floating 

 

 

 

 

 

 

1 

2. Read the following statements- Assertion (A) and Reason (R).  

Choose the correct alternative from the options given below:  

Assertion (A): Direct taxes are imposed on income/profits of individuals/companies. 

Reason (R): The burden of payment of direct taxes cannot be shifted to any other entity. 

Options: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 

 

 

 

 

 

 

 

 

 

 

1 

3. Under the Keynesian theory, ‘Reference Line’ is a straight line passing through the origin 

drawn at an angle of __________.             (Choose the correct option to fill in the blank) 

(A) 25°                               (B) 40° 

(C) 45°                               (D) 70° 

Ans. (C) 45° 

 

 

 

 

1 

4. Read the following statements carefully: 

Statement 1: Marginal Propensity to Consume (MPC) refers to the consumption per unit of 

income. 

Statement 2: As the income increases, the proportionate increase in the level of consumption 

is always more than the increase in the level of income. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (D) Both Statements 1 and 2 are false. 

 

 

 

 

 

 

 

 

 

 

1 

5. The main objective of measuring the primary deficit is to highlight present ____________. 

      (Choose the correct option to fill in the blank) 
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(A) fiscal imbalances       (B) fiscal balances 

(C) recovery of loans     (D) cash grant-in-aid 

Ans. (A) fiscal imbalances 

 

 

1 

6. Read the following statements carefully: 

Statement 1: Import of heavy machinery from Japan is a source of demand for foreign 

exchange. 

Statement 2: Financial aid by International Bank for Reconstruction and Development 

(IBRD) for landslide in Wayanad (Kerala) is a source of supply of foreign exchange. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (C) Both Statements 1 and 2 are true. 

 

 

 

 

 

 

 

 

 

 

1 

7. In a two-sector economy, the Aggregate Demand can be determined by adding __________ 

and __________.     (Choose the correct option to fill in the blanks) 

(A) consumption, investments  (B) investments, savings 

(C) consumption, savings   (D) savings, exports 

Ans. (A) consumption, investments 

 

 

 

 

1 

8. Read the following statements carefully:  

Statement 1: The government may reduce the repo rate, to control deflationary gap prevailing 

in the economy. 

Statement 2: The government may reduce the deflationary gap, by selling off government 

securities (G-Sec) in the open market. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (D) Both Statements 1 and 2 are false. 

 

 

 

 

 

 

 

 

 

 

1 

9. To arrive at the value of Gross Value Added at Factor Cost (GVAFC), _______must be  

___________ to/from Gross Value Added at Market Price (GVAMP).  

                                    (Choose the correct option to fill in the blanks) 

(A) depreciation, added 

(B) depreciation, subtracted 

(C) Net Indirect Taxes, added 

(D) Net Indirect Taxes, subtracted 

Ans. (D) Net Indirect Taxes, subtracted 

 

 

 

 

 

 

 

1 

10. Read the following statements carefully:  

Statement 1: Public goods are those goods for which the payments are made by all the 

entities in the country. 

Statement 2: Private goods are those goods which are provided by the government of a 

country at subsidised rates. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (D) Both Statements 1 and 2 are false. 

 

 

 

 

 

 

 

 

 

 

1 
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11. 

(a) 

Explain any two precautions pertaining to the Income Method of Estimation of National 

Income in a country.  

Ans. Two precautions to be taken while estimating National Income by Income method 

are:  

• Transfer Income should not be included as they are unilateral in nature. 

• Income from sale of second-hand goods should not be included as it does not 

add to the flow of goods and services in the economy in the current year. 

                                                        (Any other valid precaution to be awarded marks) 

 

 

 

 

1½ 

1½ 

 

 

 OR 3 

(b) On the basis of the following hypothetical data:    (in ₹ crore) 

Year Nominal GDP Nominal GDP 

(adjusted to base year prices) 

2020-21 3,000 5,000 

2022-23 4,000 6,000 

Calculate the percentage change in Real Gross Domestic Product (GDP) in the year 2022 – 

23 using 2020 – 21 as the base year. 

Ans. Percentage change in Real Gross Domestic Product (GDP) in the year 2022-23 

        = 
𝐂𝐡𝐚𝐧𝐠𝐞 𝐢𝐧 𝐑𝐞𝐚𝐥 𝐆𝐃𝐏

𝐑𝐞𝐚𝐥 𝐆𝐃𝐏 
  x 100 

        = 
𝟔𝟎𝟎𝟎−𝟓𝟎𝟎𝟎

𝟓𝟎𝟎𝟎
  x 100 

        = 20%      

 

 

 

 

   

 

 

 

1 ½  

 

1 

½ 

  3 

12. “Taxation is an effective tool to reduce the inequalities of income.”  

Justify the given statement with valid reasons. 

Ans. Government can use taxation as an effective tool to reduce inequalities of income, 

as it affects the disposable income of people. It may impose higher taxes on the rich and 

may provide subsidies to the economically weaker sections of the society on education, 

health services etc. By adopting these measures, the government may try to bridge the 

gap between the rich and the poor.                        (To be marked as a whole) 

 

 

 

3 

13. 

 

 

Read the following text carefully: 

According to a report issued by a research organisation, there is a sharp decline in the overall 

demand in the economy, particularly in the private consumption segment. This dip in the 

macro economic variables, highlights the urgent need for strategic actions to stimulate 

economic activities. 

On the basis of the given text and common understanding, explain the measure which the 

government may take to solve the indicated problem. 

Ans. The highlighted issue is deflation. To control deflation, the government may: 

• decrease the tax rates which may increase the disposable income (purchasing 

power) in the hands of the general public. Consequently, it may lead to a rise in 

Aggregate Demand, thereby correcting the situation of deflation. 

• increase the public expenditure which may increase the level of income in the 

economy. Consequently, it may lead to a rise in Aggregate Demand, thereby 

correcting the situation of deflation.        

 

 

 

 

 

 

 

 

2 

 

 

 

2 

  4 

14. 

(a) 

Elaborate any two components of the Capital Account under the Balance of Payments 

Account. 

Ans.  The two components of the Capital Account under the Balance of Payments 

Account are: 
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• External Borrowings which include borrowings/lending from/to abroad by the 

private sector and government. Such transactions are recorded in the Capital 

Account as they affect the assets and liabilities of the nation. 

• Investments to/from abroad are recorded in the Capital Account as they affect 

the assets of the nation.  (Any other valid component to be awarded marks) 

2 

 

 

2 

 

 OR 4 

(b) Distinguish between Autonomous transactions and Accommodating transactions. 

Ans. Autonomous transactions are those international economic transactions which are 

independent of the state of Balance of Payments (BoP). These transactions are 

generally undertaken with an ‘economic motive’. Such transactions are called ‘above 

the line’ items in the BoP account.  

Whereas;  

Accommodating transactions are those international economic transactions which are 

undertaken (by competent authorities) to cover the surplus or deficit in Balance of 

Payments (BoP). These transactions are independent of any economic motive. Such 

transactions are called ‘below the line’ items in the BoP account. 

 

 

2 

 

 

 

2 

 

 

  4 

15. 

 

Assuming the following for a hypothetical economy, estimate the Break-even level of 

Income and Equilibrium level of Income: 

(i) Autonomous Consumption Expenditure (c̅) = ₹ 50 crore 

(ii) Marginal Propensity to Save (MPS) = 0.2 

(iii) Autonomous Investments (I₀) = ₹ 100 crore 

Ans. Given, Autonomous Consumption Expenditure (�̅�) = ₹ 50 crore 

            Marginal Propensity to Save (MPS) = 0.2 

            Autonomous Investments (I0) = ₹ 100 crore 

 Marginal Propensity to Consume (MPC) = 1 – MPS 

      = 1- 0.20 = 0.80 

As we know, at Break-even level of income; Y = C 

                               Y = 𝐜 ̅+ (MPC) Y 

                 Y = 50 + 0.80 Y 

         Y = ₹ 250 crore 

At equilibrium level of income; Y = C + I 

          Y = (50 + 0.80Y) + 100 

          Y = ₹ 750 crore 

 

 

 

 

 

 

 

 

 

 

1 

 

½ 

½ 

1 

½ 

½ 

 Alternate Solution 4 

 As we know, at Break-even level of income; S = 0 

S = - 𝐜 ̅  + (MPS) Y 

0 = - 50 + 0.20 Y 

Y = ₹ 250 crore 

As we know, at equilibrium; S = I 

         -50 + 0.20 Y = 100 

           Y = ₹ 750 crore 

1 

 

½ 

½ 

1 

½ 

½ 

 (Any other alternate solution to be awarded marks) 4 

16. 

(a)  

 

 

 

(i) Suppose there are only three firms in an imaginary economy, viz. X, Y and Z. During a 

year, the following transactions took place in the economy: 

(I) Firm X sold goods worth ₹ 20,000 to Firm Y and ₹ 12,000 to Firm Z. 

(II) Firm Y sold goods worth ₹ 11,000 to Firm X and ₹ 35,000 to Firm Z. 

(III) Firm Z sold goods worth ₹ 57,000 to households for final consumption. 
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On the basis of the given transactions, calculate the value of Gross Domestic Product at 

Market Price (GDPMP) in the economy. 

Ans. 

Firms Value of Output 

(in ₹) 

(i) 

Intermediate Consumption 

(in ₹) 

(ii) 

Value Added 

(in ₹) 

{(i) – (ii)} 

X 20,000 + 12,000 11,000 21,000 

Y 11,000 + 35,000 20,000 26,000 

Z 57,000 12,000 + 35,000 10,000 

 1,35,000 78,000 57,000 

 Gross Domestic Product at Market Price (GDPMP) 

(Any other valid method to be awarded marks)  

(ii) Discuss the likely impact of construction of 20 new hospitals in a country on the Gross 

Domestic Product (GDP) and Welfare in the economy.   

Ans. The construction of 20 new hospitals may impact the Gross Domestic Product 

(GDP) positively as improved health infrastructure may lead to an increase in 

employment opportunities. Moreover, it may improve the health status and in turn well 

being of the people, consequently improving the welfare in the economy. 

(To be marked as a whole) 

 

 

 

 

 

 

1 

1 

1 

1 

 

 

 

 

 

2 

 

 

 OR 6 

(b) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(i) On the basis of the following data, estimate the value of Net Domestic Product (NDPFC): 

S.No. Items Amount 

(in ₹ crore) 

(i) Household Consumption Expenditure 800 

(ii) Gross Business Fixed Capital Formation 150 

(iii) Gross Residential Construction Investment 120 

(iv) Government Final Consumption Expenditure 270 

(v) Excess of Imports over Exports 20 

(vi) Inventory Investments 50 

(vii) Gross Public Investments 130 

(viii) Net Indirect Taxes 20 

(ix) Net Factor Income from Abroad (-) 25 

(x) Consumption of Fixed Capital 40 

Ans.  

Net Domestic Product at Factor Cost (NDPFC)=(i)+(iv)+(ii)+(iii)+(vii)+(vi)-(v)-(x)-(viii)

            = 800+270+150+120+130+50-20-40-20  

            = ₹1,440 crore 

(ii) ‘Disposition phase of circular flow of income involves flow of factor income from firms 

to households.’ 

Justify the statement giving valid reason. 

Ans. Disposition phase of circular flow of income indicates the flow of spending by the 

households on purchase of goods and services produced by firms. 

Whereas, the distribution phase which involves the flow of factor incomes, which 

comprises of rent, wages, interest and profits from firms to households. 

                                             (To be marked as a whole) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

1 ½  

½ 

 

 

 

 

2 

  6 
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17. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(a) Elaborate the process of Credit Creation using a suitable numerical example. 

The process of credit creation is based on the assumptions that: 

• entire banking system is a single unit. 

• all transactions are routed through the bank only. 

Rounds Deposits Loans Reserves (20%) 

I 1,000 800 200 

II 800 640 160 

III 640 512 128 

… … … … 

Total 5,000 4,000 1,000 

When a commercial bank receives primary deposits (say ₹ 1,000), it has to maintain 

some statutory reserves (say 20%). The remaining amount is made available for loans. 

The lent sum of money is received back in the next round of deposits as secondary 

deposits. 

Total Deposits = Primary Deposits x 
𝟏

𝐑𝐞𝐬𝐞𝐫𝐯𝐞 𝐑𝐚𝐭𝐢𝐨
 

   = 1000 x 
𝟏

𝟎.𝟐
 

    = ₹ 5,000 

This process continues till sum total of reserves becomes equal to primary deposits. 

             (To be marked as a whole) 

 

(b) Read the following text carefully: 

"This function of money provides different items to be evaluated against a common standard. 

It allows comparison of prices and keeping financial records." 

(i) On the basis of the given text, identify the indicated function of money. 

(ii) List any other two functions of money. 

Ans. (i) The indicated function of money is ‘Unit of account’.  

(ii) Two other functions of money are: 

• Medium of exchange. 

• Standard of deferred payments.     (Any other valid function to be awarded marks) 

 

 

 

 

 

 

 

 

 

 

 

 

4 

 

 

 

 

 

 

 

 

 

 

 

1 

 

½ 

½ 

  6 

SECTION – B 

(Indian Economic Development) 

18. Identify, which of the following does not indicate the similarities in the policies of India and 

Pakistan in the post 1947 period. 

(A) Dual pricing policy   (B) Green revolution 

(C) Import substitution    (D) Mixed economic system 

Ans. (A) Dual pricing policy 

 

 

 

 

1 

19. Identify, which of the following statements is incorrect about the Rural Banking system in 

India.                                                                                               (Choose the correct option) 

(A) In the post-independence period, a well-structured Rural Banking system was formulated 

in India. 

(B) Rural Banking system in India consists of a set of multi-agency institutions. 

(C) Regional Rural Banks, Cooperative and Land Development Banks are few important 

components of Rural Banking system in India. 

(D) Rural Banking system in India works under the guidance, instruction and supervision of 

the State Bank of India. 

Ans.(D) Rural Banking system in India works under the guidance, instruction and 

supervision of the State Bank of India. 

 

 

 

 

 

 

 

 

 

 

1 
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20. In the post-independence era, the policy makers of India pushed for ‘self-reliance’ for the 

first __________ Five Year Plans.                     (Choose the correct option to fill in the blank) 

(A) 8 

(B) 7 

(C) 6 

(D) 5 

Ans. (B) 7 

 

 

 

 

 

 

1 

21. Production of diverse varieties of crops rather than one specialized crop is known as 

diversification of __________.                         (Choose the correct option to fill in the blank) 

(A) crops 

(B) agricultural production 

(C) sectoral composition 

(D) employment 

Ans. (A) crops 

 

 

 

 

 

 

1 

22. Identify, which of the following statements is incorrect about the functions of environment.                                                                           

(Choose the correct option) 

(A) Provides resources 

(B) Absorbs wastage 

(C) Sustains life 

(D) Deteriorates quality of life 

Ans. (D) Deteriorates quality of life 

 

 

 

 

 

 

1 

23. Read the following statements carefully: 

Statement 1: The Food Corporation of India maintains buffer stocks of wheat and rice as a 

measure to improve market mechanism. 

Statement 2: Minimum Support Price (MSP) is imposed by the government to safeguard the 

interest of farmers. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (C) Both Statements 1 and 2 are true. 

 

 

 

 

 

 

 

 

 

 

1 

24. Suppose an economy is experiencing a situation of rise in Real Gross Domestic Product 

(GDP), without any corresponding rise in the employment opportunities. 

In economic parlance, such a situation is termed as __________ growth. 

(Choose the correct option to fill in the blank) 

(A) casual 

(B) informal 

(C) formal 

(D) jobless 

Ans. (D) jobless 

 

 

 

 

 

 

 

 

1 

25. Read the following statements – Assertion (A) and Reason (R). Choose the correct alternative 

from the options given below: 

Assertion (A): Excessive regulation of permit license raj prevented certain private firms from 

becoming more efficient. 

Reason (R): Private sector wasted a significant time in obtaining licenses rather than 

enhancing product quality and international competitiveness. 

Options: 
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(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 

 

 

 

 

 

1 

26. Read the following statements carefully: 

Statement 1: The British policies were accountable for commercialisation of Indian 

agriculture. 

Statement 2: In the larger interest of Indians, the British rulers focused on the infrastructural 

growth of India. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (A) Statement 1 is true and Statement 2 is false. 

 

 

 

 

 

 

 

 

 

1 

27. Read the following statements – Assertion (A) and Reason (R). 

Choose the correct alternative from the options given below: 

Assertion (A): Information plays a crucial role in judicious decision-making about investing 

in human capital. 

Reason (R): Individuals invest to acquire information about the labour market and other areas 

such as education and healthcare. 

Options: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

28. 

 

Elaborate the reasons responsible for emergence of poverty in Pakistan. 

Ans. The reason for the emergence of poverty in Pakistan’s economy were: 

• Pakistan experienced uneven agricultural growth, food supply situation which 

were dependent on good harvest and not on the institutional process of technical 

change.  

• Pakistan faced the problems of overdependence on remittances, rising foreign 

loans and increased difficulty in paying back the loans.       

          (To be marked as a whole)         

      (Any other relevant reason to be allotted marks) 

 

 

 

 

3  

 

 

 

 

29. 

(a) 

 

 

 

 

“Under the British rule, India underwent systematic economic exploitation with its resources 

and wealth being diverted to Britain.” 

Justify the given statement with valid explanation. 

Ans. During the colonial period, India's resources and wealth were exploited and 

diverted to Britain by transforming the country into exporter of raw materials and 

importer of finished industrial products from Britain. Moreover, the export surplus did 

 

 

 

 

3 
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(b) 

 

not result in any flow of gold or silver into India. Rather, this was used to make 

payments for the expenses incurred by an office set up by the colonial government in 

Britain, expenses on war, fought by the British government, and the import of invisible 

items, all of which led to the drain of Indian wealth to Britain. 

                     (To be marked as a whole) 

OR 

 Appraise the Navratan policy adopted by the Government of India in the reforms of 1991. 

Ans. In order to improve efficiency, infuse professionalism and enable them to compete 

more effectively in the liberalised global environment, the government identified a few 

Public Sector Enterprises and declared them as ‘Navratnas’. They were given greater 

managerial and operational autonomy, in taking various decisions to run the company 

efficiently and thus increase their profits. The granting of Navratan status resulted in 

better performance of these companies.             (To be marked as a whole) 

 

 

 

 

 

 

 

 

3 

 

 

 

30. 

(a) 

 

 

 

 

 

 

 

 

 

 

 

(i) Distinguish between human capital and physical capital. 

Ans. Human capital refers to the stock of knowledge, skill and ability imbibed in the 

owner of the same, i.e., human capital is inseparable from its owner. It cannot be sold 

in the market, only its services can be sold in the market. 

Whereas; 

Physical capital are the assets (plant and machinery, building etc.), which are tangible 

in nature. It is separable from its owner. It can be transacted in the market. 

 

(ii) Describe ‘LPG’ and ‘Gobar Gas’ as strategies used to achieve sustainable development 

in rural areas. 

Ans. Liquified Petroleum Gas (LPG) is a clean fuel that reduces household fuel pollution 

to a large extent and minimises energy wastage. For the gobar gas plant to function, 

cattle dung is fed to the plant and gas is produced which is used as fuel while the slurry 

which is left over is a very good organic manure and soil conditioner. 

(To be marked as a whole) 

 

1 

 

 

 

1 

 

 

 

 

 

2 

 

 

 OR 4 

(b)  (i) Critically appraise the micro-credit programmes in rural India. 

Ans. Micro-credit programmes fill the gaps in the formal credit system. Due to non-

availability of collateral a vast proportion of rural households go out of the credit 

network. Micro-credit system has brought these poor households in the ambit of formal 

credit system by providing them loans at a concessional rate of interest. However, it is 

alleged that the borrowings are mainly confined to consumption purposes. 

(To be marked as a whole) 

 

(ii) State the meaning of sustainable development. 

Ans. Sustainable Development is the development that meets the need of the present 

generation without compromising the ability of the future generation to meet their own 

needs. 

 

 

3 

 

 

 

 

 

 

1 

  4 

31. 

 

 

 

 

 

 

Read the given text carefully and answer the following questions: 

In response to the problem of rapidly rising population, China introduced the ‘One Child 

Policy’. The policy restricted couples to having only one child. This policy helped China to 

limit the population growth. 

This policy led to significant consequences, such as an increase ageing population, gender 

imbalances due to male child preference, and social challenges for single children, etc. 
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This policy was relaxed in 2015, allowing all couples to have two children and further relaxed 

to three children in 2021. 

Overall, while the One Child Policy achieved its primary goal of controlling population 

growth, it also created a complex set of demographic and social challenges that China 

continues to address today. 

(a) Explain the consequences of implementation of the One Child Policy in China. 

Ans. Implementation of the One Child Policy in China led to a drastic fall in population 

growth rate in China. Besides, it had various adverse effects like a higher proportion of 

elderly population, gender imbalances due to male child preference and various social 

challenges for single child, etc.           (To be marked as a whole) 

 

(b) State any one reason for the implementation of the One Child Policy in China. 

Ans. One Child Policy in China was implemented to curb the rapidly rising population. 

 

 

 

 

 

 

 

3 

 

 

 

 

1 

  4 

32. 

 

State and elaborate whether the following statements are true/false, with valid arguments: 

(a) Organic farming offers a means to substitute costlier agricultural inputs with locally 

produced organic inputs.    

Ans. True. Organic farming offers a means to substitute costlier agricultural inputs 

such as HYV seeds, chemical fertilisers, pesticides etc. with locally produced organic 

inputs that are cheaper and thereby generate good returns on investment. 

(b) Informalisation of workforce in India, has increased various concerns on the front of 

employment generation among the youth of the country. 

Ans. True. Informalisation of workforce has increased concerns regarding job security 

amongst the youth. There is a problem of lower earning and lack of social security 

benefits. 

 

 

 

2 

 

 

 

 

2 

 

  4 

33. 

 

 

 

 

 

 

 

 

 

 

 

Read the following text carefully: 

Indian labour market indicators have improved in the last six years, as per the Periodic 

Labour Force Survey Data. The unemployment rate has fallen to 3.2% in 2022–23. Rising 

youth and female participation in the workforce present an opportunity to tap the 

demographic and gender dividend. The factory employment data exhibits the bounce back 

of the organised manufacturing sector in FY 2022–23 with rise in employment and the 

upscaling of factories. 

The net payroll additions under EPFO have more than doubled in the past five years, 

signalling healthy growth in formal employment. 

To generate and sustain quality employment, agro-processing and care economy are two 

promising candidates. 

On the basis of the given text and common understanding, answer the following questions: 

(a) State any one significance of rising youth and female participation in the Indian 

workforce. 

Ans. Rising youth and female participation in the Indian workforce can provide an 

opportunity to tap the demographic and gender dividend. 

 

(b) Identify any two sectors which may be highlighted as promising for generating quality 

employment in India. 

Ans. The two sectors which may be highlighted as promising for generating quality 

employment in India are: 

• agro-processing 

• care economy. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

1 

1 
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(c) Elaborate the meaning of disguised unemployment with the help of a suitable example. 

Ans. Disguised unemployment refers to a situation when the person seems to be 

employed but is not contributing to the output i.e., his marginal productivity is zero. 

For example, suppose a farmer with four acres of land and two workers can produce 

100 quintals of wheat. Even if he employs one more worker, the total output remains 

unchanged. Hence, the contribution made by the additional worker to the total output 

is zero and thus can be said to be in a situation of disguised unemployment.  

                       (To be marked as a whole) 

 

 

 

 

3 

 

 

  6 

34. 

(a) 

(i) “Indian economy has greatly benefitted by the process of globalisation.”  

Justify the given statement with valid arguments. 

Ans. The process of globalisation has produced positive results for the Indian economy. 

With the creation of a borderless world, the Indian economy has greater 

access to global markets and latest technology. Moreover, it has provided an increased 

possibility for large industries to become important players in the international arena. 

Furthermore, the opening of the economy has led to a rapid increase in foreign direct 

investment and foreign exchange reserves.                   (To be marked as a whole) 

 

(ii) Distinguish between Multilateral Trade and Bilateral Trade. 

Ans. Multilateral trade is the trade by a country with more than two nations to exchange 

goods and services.  

Whereas; 

Bilateral trade refers to the exchange of goods or services between two countries.                                              

 

 

 

 

4 

 

 

 

 

 

1 

 

 

1 

 OR 6 

(b) (i) Discuss briefly the foreign exchange reforms undertaken by the Government of India in 

the post 1991 period.   

Ans. The foreign exchange reforms undertaken by the Government of India post 1991 

were as follows: 

• As an immediate measure to resolve the balance of payments crisis, the rupee 

was devalued against foreign currencies. This led to an increase in the inflow of 

foreign exchange.  

• The foreign exchange markets were freed from government control for 

determination of value of the rupee. Exchange rates are determined through 

market forces of demand and supply of foreign exchange. 

          (To be marked as a whole) 

(ii) Distinguish between Tariffs and Quotas. 

Ans. Tariffs are a tax on imported goods that make imported goods dearer and 

discourage their usage. 

Whereas; 

Quotas specify the quantity of goods that can be imported. 

 

 

 

 

 

 

4 

 

 

 

 

 

1 

 

 

1 
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* * * 
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Marking Scheme Hindi Medium 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination,2025 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/4/2) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totalled up and written in the left-

hand margin and encircled. This may be followed strictly. 
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8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view 

of the reduced syllabus and number of questions in question paper. 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:-  

● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 

the title page, correctly totalled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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अंकन योजना हिन्दी माध्यम 

सीननयर सू्कल सनटिनिकेट परीक्षा, 2025  

अर्िशास्त्र ( निषय कोड –030) 

[प्रश्न-पत्र कोड : 58/4/2] 

 

अनिकतम अंक: 80 

प्रश्न 

संख्या 
अपेनक्षत उत्तर/ मूल्य न ंदु 

अंक 

खंड ‘क’ 

समनि अर्िशास्त्र 

1. ____________ विविमय दर प्रणाली के अंतर्गत, कें द्रीय बैंक, विदेशी विविमय (मुद्रा) दर को सीमाबद्ध रूप से 

वियंवित कर सकता है।                     (ररक्त स्थाि की पूवतग के वलए सही विकल्प का चयि कीविए) 

(A) स्थस्थर 

(B) िम्य 

(C) प्रबंवित वतरती 

(D) स्वणग माि 

उत्तर :  (C) प्र ंनित नतरती 

 

 

 

 

 

 

1 

2. विम्नवलस्थित कथिो ं– अविकथि (A) और कारण (R) का अध्ययि कीविए। 

  िीचे वदए र्ए विकल्पो ंमें से सही विकल्प का चयि कीविए : 

अविकथि (A) :  प्रत्यक्ष कर व्यस्थक्तयो/ंकंपवियो ंकी आय/लाि पर आरोवपत वकए िाते हैं। 

 कारण (R) :  प्रत्यक्ष करो ंके िुर्ताि का बोझ वकसी अन्य इकाई पर स्थािांतररत िही ंवकया िा सकता है। 

निकल्प : 

(A) अविकथि (A) और कारण (R) दोिो ंसत्य हैं और कारण (R), अविकथि (A) की सही व्याख्या है। 

(B) अविकथि (A) और कारण (R) दोिो ंसत्य हैं, लेवकि कारण (R), अविकथि (A) की सही व्याख्या नही ं

है। 

(C) अविकथि (A) सत्य है, लेवकि कारण (R) असत्य है। 

(D) अविकथि (A) असत्य है, लेवकि कारण (R) सत्य है। 

उत्तर: (A) अनिकर्न (A) और कारण (R) दोनो ंसत्य हैं और कारण (R), अनिकर्न (A) की सही 

व्याख्या है। 

 

 

 

 

 

 

 

 

 

1 

3. कीन्स के वसद्धांत के अंतर्गत, ‘संदिग रेिा’ (Reference Line) __________ कोण पर स्थिंची र्ई मूल-वबंदु से 

रु्िरिे िाली एक सीिी रेिा है।         (ररक्त स्थाि की पूवतग के वलए सही विकल्प का चयि कीविए) 

(A) 25°      (B) 40° 

(C) 45°      (D) 70° 

उत्तर: (C) 45° 

 

 

 

 

1 

4. विम्नवलस्थित कथिो ंका ध्यािपूिगक अध्ययि कीविए: 

कथि 1 : सीमांत उपिोर् प्रिृवि (MPC) से तात्पयग प्रवत आय इकाई उपिोर् से है। 

कथि 2 : आय में िृस्थद्ध के फलस्वरूप, उपिोर् के स्तर में आिुपावतक िृस्थद्ध सदैि आय के स्तर में िृस्थद्ध से 

अविक होती है। 

वदए र्ए कथिो ंके आलोक में, विम्नवलस्थित में से सही विकल्प का चयि कीविए : 

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 दोिो ंसत्य हैं। 

(D) कथि 1 और 2 दोिो ंअसत्य हैं। 

उत्तर : (D) कर्न 1 और 2 दोनो ंअसत्य हैं। 

 

 

 

 

 

 

 

 

1 

5. प्राथवमक घाटे के मापि का मुख्य उदे्दश्य ितगमाि __________ पर ध्याि कें वद्रत करिा है।                                                                                            

     (ररक्त स्थाि की पूवतग के वलए सही विकल्प का चयि कीविए) 
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(A) वििीय असंतुलिो ं    (B) वििीय संतुलिो ं

(C) ऋणो ंकी िसूली    (D) िकद सहायता अिुदाि 

उत्तर : (A) नित्तीय असंतुलनो ं

 

 

1 

6. विम्नवलस्थित कथिो ंका ध्यािपूिगक अध्ययि कीविए: 

कथि 1 : िापाि से िारी मशीिरी का आयात विदेशी मुद्रा की मााँर् का एक स्रोत है। 

कथि 2 : िायिाड (केरल) में िूस्खलि के वलए अंतरराष्ट्र ीय पुिविगमागण ि विकास बैंक (IBRD) द्वारा वििीय 

सहायता, विदेशी मुद्रा की आपूवतग का एक स्रोत है। 

वदए र्ए कथिो ंके आलोक में, विम्नवलस्थित में से सही विकल्प का चयि कीविए : 

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 दोिो ंसत्य हैं। 

(D) कथि 1 और 2 दोिो ंअसत्य हैं। 

उत्तर : (C) कर्न 1 और 2 दोनो ंसत्य हैं। 

 

 

 

 

 

 

 

 

1 

7. एक वद्व-के्षिीय अथगव्यिस्था में, समग्र मााँर् __________ ि __________ के योर्फल द्वारा वििागररत की िा 

सकती है।           (ररक्त स्थािो ंकी पूवतग के वलए सही विकल्प का चयि कीविए) 

(A) उपिोर्, वििेश    (B) वििेश, बचत 

(C) उपिोर्, बचत    (D) बचत, वियागत 

उत्तर : (A) उपिोग, ननिेश 

 

 

 

1 

8. विम्नवलस्थित कथिो ंका ध्यािपूिगक अध्ययि कीविए : 

कथि 1 : सरकार वकसी अथगव्यिस्था में प्रचवलत अपस्फीवतकारी अंतराल को वियंवित करिे के  

 वलए, रेपो दर में कमी कर सकती है। 

कथि 2 : सरकार िुले बािार में सरकारी प्रवतिूवतयो ं(G-Sec) की वबक्री द्वारा, अपस्फीवतकारी अंतराल में 

 कमी कर सकती है। 

वदए र्ए कथिो ंके आलोक में, विम्नवलस्थित में से सही विकल्प का चयि कीविए : 

(A) कथि 1 सत्य है और कथि 2 असत्य है।  

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 दोिो ंसत्य हैं। 

(D) कथि 1 और 2 दोिो ंअसत्य हैं। 

उत्तर: (D) कर्न 1 और 2 दोनो ंअसत्य हैं। 

 

 

 

 

 

 

 

 

 

1 

9. सािि लार्त पर सकल मूल्य िृस्थद्ध (GVAFC) के मूल्य को प्राप्त करिे के वलए, बािार कीमत पर सकल मूल्य 

िृस्थद्ध (GVAMP) में/में से __________ को __________ िािा चावहए।                      

          (ररक्त स्थािो ंकी पूवतग के वलए सही विकल्प का चयि कीविए) 

(A) मूल्यह्रास, िोडा 

(B) मूल्यह्रास, घटाया 

(C) वििल अप्रत्यक्ष कर, िोडा 

(D) वििल अप्रत्यक्ष कर, घटाया 

उत्तर: (D) ननिल अप्रत्यक्ष कर, घटाया 

 

 

 

 

 

 

1 

10. विम्नवलस्थित कथिो ंका ध्यािपूिगक अध्ययि कीविए: 

 कथि 1 : सािगिविक िसु्तएाँ , िे िसु्तएाँ  होती हैं, वििके वलए राष्ट्र  की समस्त इकाइयो ंद्वारा िुर्ताि वकया 

िाता है। 

 कथि 2 : वििी िसु्तएाँ , िे िसु्तएाँ  होती हैं, िो वकसी राष्ट्र  की सरकार द्वारा उपदावित (subsidised) 

 दरो ंपर उपलब्ध कराई िाती हैं। 

वदए र्ए कथिो ंके आलोक में, विम्नवलस्थित में से सही विकल्प का चयि कीविए : 

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 दोिो ंसत्य हैं। 

(D) कथि 1 और 2 दोिो ंअसत्य हैं। 

उत्तर: (D) कर्न 1 और 2 दोनो ंअसत्य हैं। 

 

 

 

 

 

 

 

 

 

 

1 
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11. 

(क) 

कसी देश में रावष्ट्र य आय के आंकलि की आय विवि से समं्बवित वकन्ही दो साििावियो ंकी व्याख्या कीविये l  

उत्तर: आय निनि द्वारा रािर ीय आय का अनुमान लगाते समय ननम्न दो साििाननयााँ  रती जानी चानहए: 

• हस्ांतरण आय को सम्मिनलत नही ंनकया जाना चानहए क्ोनंक िे एकतरिा प्रकृनत की होती 

हैं। 

• पुरानी िसु्ओ ंकी न क्री से होने िाली आय को सम्मिनलत नही ंनकया जाना चानहए क्ोनंक यह 

चालू िषि में अर्िव्यिस्था में िसु्ओ ंऔर सेिाओ ंके प्रिाह में िृम्मि नही ंकरती है। 

            (कोई अन्य मान्य साििानी के नलए िी अंक प्रदान नकए जाएं) 

 

 

1½ 

 

1½ 

 

 

 अर्िा 3 

(ख) विम्नवलस्थित काल्पविक आाँकडो ंके आिार पर :    

           (₹ करोड में) 

िर्ग िाममाि GDP िाममाि GDP 

(आिार िर्ग की कीमतो ंसे समायोवित) 

2020 – 21 3,000 5,000 

2022 – 23 4,000 6,000 

2020 – 21 को आिार िर्ग मािते हुए, िर्ग 2022 – 23 में िास्तविक सकल घरेलू उत्पाद (GDP) में प्रवतशत 

पररितगि की र्णिा कीविए। 

उत्तर: िषि 2022-23 के दौरान िास्निक सकल घरेलु उत्पाद (GDP) में प्रनतशत पररितिन  

       = 
िास्तविक 𝑮𝑫𝑷 में पररितगि

िास्तविक 𝑮𝑫𝑷 
  x 100 

        = 
𝟔𝟎𝟎𝟎−𝟓𝟎𝟎𝟎

𝟓𝟎𝟎𝟎
  x 100 

        = 20%       

 

 

 

 

   

 

 

 

 

 

1 ½  

1 

½ 
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12. “आय की असमािताओ ंको कम करिे के वलए करािाि एक प्रिािी उपकरण है।” 

िैि कारणो ंद्वारा वदए र्ए कथि का औवचत्य वसद्ध कीविए। 

उत्तर: सरकार आय की असमानताओ ंको कम करने के नलए करािान को एक प्रिािी उपकरण के 

रूप में उपयोग कर सकती है, क्ोनंक यह लोगो ंकी प्रयोज्य आय को प्रिानित करता है। सरकार िनी 

िगि पर उच्च कर लगा सकती है तर्ा समाज के आनर्िक रूप से कमजोर िगों को नशक्षा, स्वास्थ्य 

सेिाओ ंआनद पर उपदान प्रदान कर सकती है। इन उपायो ंको अपनाकर, सरकार िनी तर्ा ननििन के 

 ीच की खाई को पाटने का प्रयास कर सकती है। 

              (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 

 

 

 

3 

13. 

 

 

विम्नवलस्थित र्द्य का ध्यािपूिगक अध्ययि कीविए : 

एक शोि संस्था द्वारा विर्गवमत एक ररपोटग में कहा र्या है वक अथगव्यिस्था में समग्र मााँर्, विशेर्कर वििी 

उपिोर् िंड में, तीव्र वर्रािट आई है। िृहद आवथगक चरो ंमें यह कमी, आवथगक र्वतविवियो ंको प्रोत्सावहत करिे 

के वलए रणिीवतक कायगिावहयो ंकी तत्काल आिश्यकता को पररलवक्षत करती है। 

वदए र्ए र्द्य तथा सामान्य ज्ञाि के आिार पर, उि उपायो ंकी व्याख्या कीविए विन्हें सरकार संकेवतत समस्या 

को ठीक करिे के वलए उठा सकती है। 

उत्तर: उपरोक्त गद्य में अर्िव्यिस्था की संकेनतत समस्या अपस्फीनत है। अपस्फीनत को ननयंनत्रत करने 

के नलए, सरकार ननम्ननलम्मखत कदम उठा सकती है: 

• कर की दरो ंमें कमी कर सकती है नजससे आम जनता के हार्ो ंमें प्रयोज्य आय (क्रय शम्मक्त) 

में िृम्मि हो सकती है। पररणामस्वरूप, इससे समग्र मांग में िृम्मि हो सकती है, नजससे 

अपस्फीनत की म्मस्थनत को ननयंनत्रत नकया जा सकता है। 

• साििजननक व्यय में िृम्मि कर सकती है नजससे अर्िव्यिस्था में आय का स्र  ढ़ सकता है। 

पररणामस्वरूप, इससे समग्र मांग में िृम्मि हो सकती है, नजससे अपस्फीनत की म्मस्थनत को 

ननयंनत्रत नकया जा सकता है। 

 

 

 

 

 

 

 

 

2 

 

 

 

2 
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14. 

(क) 

िुर्ताि संतुलि िाते के अंतर्गत पूाँिी िाते के वकन्ही ंदो घटको ंकी व्याख्या कीविए। 

उत्तर: िुगतान संतुलन खाते के अंतगित पंूजी खाते के दो घटक हैं: 

•  ाहरी ऋण, नजसमें  ननजी के्षत्र और सरकार द्वारा निदेशो ंसे/ को ऋण का आदान/ प्रदान 

करना सम्मिनलत है। ऐसे लेन-देन पंूजी खाते में दजि नकए जाते हैं क्ोनंक, िे रािर  की 

पररसंपनत्तयो ंऔर देनदाररयो ंको प्रिानित करते हैं। 

• निदेशो ंसे प्राप्त/निदेश में नकए गए ननिेश पंूजी खाते में दजि नकए जाते हैं क्ोनंक, िे रािर  की 

पररसंपनत्तयो ंको प्रिानित करते हैं।  

        (अन्य नकसी िैि घटक के नलए िी अंक प्रदान नकए जाएाँ  l ) 

 

 

2 

 

 

2 

 

 अर्िा 4 

(ख) 

 

स्वायि लेिदेिो ंि समायोिि लेिदेिो ंमें अंतर स्पष्ट् कीविए। 

उत्तर: स्वायत्त लेन-देन िे अंतराििर ीय आनर्िक लेन-देन हैं, जो िुगतान संतुलन (BOP) की म्मस्थनत से 

स्वतंत्र होते हैं। ये लेन-देन सामान्यतः  ‘आनर्िक उदे्दश्य’ से नकए जाते हैं। ऐसे लेन-देन को BOP खाते में 

‘रेखा से ऊपर’ की मदें कहा जाता है।  

ज नक; 

समायोजन लेन-देन िे अंतराििर ीय आनर्िक लेन-देन हैं, जो िुगतान संतुलन (BOP) में अनिशेष / घाटे 

को पाटने के नलए (सक्षम अनिकाररयो ंद्वारा) नकए जाते हैं। ये लेन-देन नकसी िी आनर्िक उदे्दश्य से 

स्वतंत्र होते हैं। ऐसे लेन-देन को BOP खाते में ‘रेखा से नीचे’  की मदें कहा जाता है। 

 

2 

 

 

 

2 
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15. 

 

एक काल्पविक अथगव्यिस्था के वलए विम्नवलस्थित को मािते हुए, सम-स्तर आय ि संतुलि आय के स्टारो ंका 

अिुमाि लर्ाइए :  

(i) स्वायि उपिोर् व्यय (c̅)) = ₹ 50 करोड 

(ii) सीमांत बचत प्रिृवि (MPS) = 0.2 

(iii) स्वायि वििेश (I₀) = ₹ 100 करोड 

 

Ans. नदया गया है, स्वायत्त उपिोग व्यय (�̅�)   = ₹ 50 crore 

            सीमांत  चत प्रिृनत्त (MPS) = 0.2 

   स्वायत्त ननिेश (I0) = ₹ 100 करोड़ 

  सीमांत उपिोग प्रिृनत्त (MPC) = 1 – MPS 

     = 1- 0.20 

     = 0.80 

जैसा नक हम जानते हैं, आय के सम-स्र पर; Y = C 

                       Y = 𝐜 ̅+ (MPC) Y  

                       Y = 50 + 0.80 Y  

            Y = ₹ 250 करोड़ 

  आय के संतुलन स्र पर; Y = C + I 

          Y = (50 + 0.80Y) + 100 

          Y = ₹ 750 करोड़ 

 

 

 

 

 

 

 

 

 

 

 

1 

 

½ 

½ 

1 

½ 

½ 

 िैकम्मल्पक उत्तर  4 

 जैसा नक ज्ञात है, आय के सम-स्र पर; S = 0 

S = - �̅�+ (MPS) Y 

0 = - 50 + 0.20 Y 

Y = ₹ 250 करोड़ 

जैसा नक ज्ञात है, संतुलन पर; S = I 

         -50 + 0.20 Y = 100 

           Y = ₹ 750 करोड़ 

1 

 

½ 

½ 

1 

½ 

½ 

 (अन्य नकसी िैकम्मल्पक उत्तर के नलए िी अंक प्रदान नकए जाएाँ  l) 4 
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16. 

(क)  

 

 

 

 

 

 

 

 

 

 

 

(i) माि लीविए वक, एक काल्पविक अथगव्यिस्था में केिल तीि फमें X, Y ि Z हैं। 

एक िर्ग के दौराि, अथगव्यिस्था में विम्नवलस्थित लेिदेि वलए र्ए हैं : 

(I) फमग X द्वारा फमग Y को ₹ 20,000 तथा फमग Z को ₹ 12,000 के मूल्य का माल वबक्री वकया र्या। 

(II) फमग Y द्वारा फमग X को ₹ 11,000 तथा फमग Z को ₹ 35,000 के मूल्य का माल वबक्री वकया र्या। 

(III) फमग Z द्वारा रृ्हस्थो ंको ₹ 57,000 के मूल्य का माल अंवतम उपिोर् के वलए वबक्री वकया र्या। 

वदए र्ए लेिदेि के आिार पर अथगव्यिस्था में, बािार मूल्य पर सकल घरेलू उत्पाद (GDPMP) के मूल्य की 

र्णिा कीविए। 

उत्तर:  

िमि उत्पादन का मूल्य 

(₹ में) 

(i) 

मध्यिती उपिोग 

(₹ में) 

(ii) 

मूल्य िििन 

(₹ में) 

{(i) – (ii)} 

X 20,000 + 12,000 11,000 21,000 

Y 11,000 + 35,000 20,000 26,000 

Z 57,000 12,000 + 35,000 10,000 

 1,35,000 78,000 57,000 

  ाजार मूल्य पर सकल घरेलू उत्पाद (GDPMP) 

                                        (अन्य नकसी िैि उत्तर के नलए िी अंक प्रदान नकए जाएाँ  l) 

(ii) वकसी देश में 20 िए अस्पतालो ंके विमागण का वकसी अथगव्यिस्था में सकल घरेलू उत्पाद (GDP) ि कल्याण 

पर पडिे िाले संिावित प्रिािो ंकी चचाग कीविये l  

उत्तर: 20 नए अस्पतालो ंके ननमािण से सकल घरेलू उत्पाद (GDP) पर सकारात्मक प्रिाि पड़ सकता 

है क्ोनंक  ेहतर स्वास्थ्य आिाररक संरचना से रोजगार के अिसरो ंमें िृम्मि हो सकती है। सार् ही, 

इससे जन - स्वास्थ्य के स्र में सुिार होने के कारण जीिन की गुणित्ता में िृम्मि हो सकती है, तर्ा 

पररणामस्वरूप, अर्िव्यिस्था में कल्याण में सुिार हो सकता है। 

       (पूरे उत्तर को एक साथ अंककत ककया जाए l ) 

 

 

 

 

 

 

 

 

 

 

1 

1 

1 

1 
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(ख) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(i) विम्नवलस्थित आाँकडो ंके आिार पर, शुद्ध घरेलू उत्पाद (NDPFC) के मूल्य का अिुमाि लर्ाइए : 

 

क्र. सं. मदें  रावश 

(₹ करोड 

में) 

(i) रृ्हस्थ उपिोर् व्यय 800 

(ii) सकल व्यापाररक स्थायी पूाँिी विमागण 150 

(iii) सकल आिासीय विमागण वििेश 120 

(iv) सरकारी अंवतम उपिोर् व्यय 270 

(v) आयात का वियागत पर अविक्य 20 

(vi) मालसूची (inventory) वििेश 50 

(vii) सकल सािगिविक वििेश 130 

(viii) शुद्ध अप्रत्यक्ष कर 20 

(ix) विदेशो ंसे प्राप्त शुद्ध करक आय (-) 25 

(x) स्थायी पूाँिी का उपिोर् 40 

Ans.  

शुि घरेलू उत्पाद आय (NDPFC)=(i)+(iv)+(ii)+(iii)+(vii)+(vi)-(v)-(x)-(viii)   

         = 800+270+150+120+130+50-20-40-20     

         = ₹1,440 करोड़ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

1 ½  

½ 
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(ii) ‘आय के चक्रीय प्रिाह के विपटाि (disposition ) चरण में फमों से रृ्हस्थो ंतक करक आय (factor 

income) का प्रिाि सस्थिवलत होता है l ’ 

िैि कारण देते हुए कथि को वसद्ध कीविए l  

उत्तर: आय के चक्रीय प्रिाह का ननपटान चरण, िमों द्वारा उत्पानदत िसु्ओ ंऔर सेिाओ ंके क्रय पर 

गृहस्थो ंद्वारा व्यय के प्रिाह को इंनगत करता है।  

ज नक, नितरण चरण में िमों से गृहस्थ के्षत्र की ओर कारक आय का प्रिाह सम्मिनलत होता है, नजसमें 

नकराया, मजदूरी, ब्याज तर्ा लाि सम्मिनलत होते हैं l  ( पूरे उत्तर को एक सार् अंनकत नकया जाए l ) 

 

 

 

 

2 
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17. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(क) उपयुक्त संख्यात्मक उदाहरण द्वारा साि सृिि प्रवक्रया को विस्तार से समझाइए। 

उत्तर: साख सृजन की प्रनक्रया ननम्ननलम्मखत मान्यताओ ंपर आिाररत है: 

• संपूणि  ैंनकंग प्रणाली एकल इकाई है। 

• सिी लेन-देन केिल  ैंक के माध्यम से ही नकए जाते हैं। 

चक्र जमाएं ऋण अरनक्षत कोष (20%) 

I 1,000 800 200 

II 800 640 160 

III 640 512 128 

… … … … 

Total 5,000 4,000 1,000 

ज  कोई िानणम्मज्यक  ैंक प्रार्नमक जमा (मान लीनजए ₹1,000) प्राप्त करता है, तो उसे कुछ िैिाननक 

कोष (मान लीनजए 20%)  नाए रखना पड़ता है। शेष रानश ऋण के नलए उपलब्ध कराई जाती है। 

उिार दी गई रानश जमा के अगले दौर में नद्वतीयक जमा के रूप में िापस प्राप्त होती है। 

कुल जमाएं = प्रार्नमक जमा x  
1

अरवक्षत अिुपात
 

 = 1000 x 
𝟏

𝟎.𝟐
 

 = ₹ 5,000 

यह प्रनक्रया त  तक जारी रहती है ज  तक प्रारंनिक जमा कुल आरनक्षत रानश के  रा र नही ंहो 

जाती।                (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 

 

(ि) विम्नवलस्थित र्द्य का ध्यािपूिगक अध्ययि कीविए : 

“मुद्रा का यह कायग एक सामान्य मािक के सामिे मूल्यांकि की िािे िाली विविन्न मदो ंको उपलब्ध कराता 

है। यह मूल्यो ंकी तुलिा करिे ि वििीय ररकॉडडगस रििे की अिुमवत देता है।" 

(i) वदए र्ए र्द्य के आिार पर, मुद्रा के संकेवतक कायग की पहचाि कीविए l  

(ii) मुद्रा के वकन्ही ंदो अन्य कायों को सूचीबद्ध कीविए। 

उत्तर: (i) मुद्रा का संकेनतक कायि  - लेखा की इकाई। 

(ii) मुद्रा के दो अन्य कायि हैं: 

• निननमय का माध्यम। 

• स्थनगत िुगतान का मानक।      (अन्य नकसी िैि कायि के नलए िी अंक प्रदान नकए जाएाँ ) 

 

 

 

 

 

 

 

 

 

 

 

4 

 

 

 

 

 

 

 

 

 

 

 

1 

 

½ 

½ 

  6 

खंड ख 

िारतीय आनर्िक निकास 

18. पहचाि कीविए वक, विम्नवलस्थित में से कौि-सा 1947 के पश्चात िारत ि पावकस्ताि की िीवतयो ंमें समािता 

को इंवर्त नही ंकरता है l 

(A) दोहरी कीमत-वििागरण िीवत   (B) हररत क्रांवत 

(C) आयात प्रवतस्थापि    (D) वमवित अथगव्यिस्था प्रणाली 

उत्तर: (A) दोहरी कीमत-ननिािरण नीनत 

 

 

 

 

1 

19. पहचाि कीविए वक, िारत की ग्रामीण बैंवकंर् प्रणाली के बारे में विम्नवलस्थित में से कौि-सा कथि असत्य है।                                                                                   

             (सही विकल्प का चयि कीविए) 
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(A) स्वतंिता उपरांत अिवि में, िारत में एक सुचारू रूप से संरवचत ग्रामीण बैंवकंर् प्रणाली का विमागण 

वकया र्या था। 

(B) िारत में ग्रामीण बैंवकंर् प्रणाली में बहु-एिेंसी संस्थािो ंका एक समूह सस्थिवलत है। 

(C) के्षिीय ग्रामीण बैंक, सहकारी ि िूवम विकास बैंक िारत में ग्रामीण बैंवकंर् प्रणाली के कुछ महत्वपूणग 

घटक हैं। 

(D) िारत में ग्रामीण बैंवकंर् प्रणाली िारतीय से्टट बैंक के मार्गदशगि, विदेशि ि पयगिेक्षण के अंतर्गत कायग 

करती है। 

उत्तर: (D) िारत में ग्रामीण  ैंनकंग प्रणाली िारतीय से्टट  ैंक के मागिदशिन, ननदेशन ि पयििेक्षण के 

अंतगित कायि करती है। 

 

 

 

 

 

 

1 

20. स्वतंिता उपरांत अिवि में, िारत के िीवत विमागताओ ंिे प्रथम _________ पंचिर्ीय योििाओ ंके वलए 

‘आत्मवििगरता’ पर बल वदया था।  ( ररक्त स्थाि की पूवतग के वलए सही विकल्प का चयि कीविए) 

(A) 8 

(B) 7 

(C) 6 

(D) 5 

उत्तर: (B) 7 

 

 

 

 

 

 

1 

21. वकसी विशेर् फ़सल के स्थाि पर, फ़सलो ंकी विविन्न वकस्ो ंका उत्पादि _________ के विवििीकरण के रूप 

में िािा िाता है।    (ररक्त स्थाि की पूवतग के वलए सही विकल्प का चयि कीविए) 

(A) फसलो ं

(B) कृवर् उत्पादि 

(C) के्षिीय संरचिा 

(D) रोज़र्ार 

उत्तर: (A) िसलो ं

 

 

 

 

 

 

1 

22. पहचाि कीविए वक, पयागिरण के कायों के संदिग में विम्नवलस्थित में से कौि-सा कथि असत्य है। 

                                                                                                (सही विकल्प का चयि कीविए) 

(A) संसािि उपलब्ध करािा 

(B) अपवशष्ट् अिशोवर्त करािा 

(C) िीिि बिाए रििा 

(D) िीिि की रु्णििा का ह्रास करिा 

उत्तर : (D) जीिन की गुणित्ता का ह्रास करना 

 

 

 

 

 

 

1 

23. विम्नवलस्थित कथिो ंका ध्यािपूिगक अध्ययि कीविए : 

कथि 1 : िारतीय िाद्य विर्म, बािार तंि को सुिारिे के उपाय के रूप में रे्हं ि चािल का बफर स्टॉक 

बिाए रिता है। 

कथि 2 : नू्यितम समथगि मूल्य (MSP), सरकार द्वारा कृर्को ंके वहतो ंकी रक्षा के वलए वििागररत वकया िाता 

है। 

वदए र्ए कथिो ंके आलोक में, विम्नवलस्थित में से सही विकल्प का चयि कीविए : 

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 दोिो ंसत्य हैं। 

(D) कथि 1 और 2 दोिो ंअसत्य हैं। 

उत्तर : (C) कर्न 1 और 2 दोनो ंसत्य हैं। 

 

 

 

 

 

 

 

 

 

1 

24. माि लीविए वक, एक अथगव्यिस्था वबिा वकसी उवचत रोज़र्ार के अिसरो ंमें िृस्थद्ध के, िास्तविक सकल घरेलू 

उत्पाद (GDP) में िृस्थद्ध की स्थस्थवत का सामिा कर रही है। 

आवथगक िार्ा में, ऐसी स्थस्थवत को __________ िृस्थद्ध कहा िाता है। 

     (ररक्त स्थाि की पूवतग के वलए सही विकल्प का चयि कीविए) 

(A) आकस्थस्क 

(B) अिौपचाररक 

 

 

 

 

 

 



 

XII_030_58/4/2_Economics_2025 # Page-10 

 

(C) औपचाररक 

(D) रोज़र्ार विहीि 

उत्तर : (D) रोज़गार निहीन 

 

 

1 

25. विम्नवलस्थित कथिो ं– अविकथि (A) और कारण (R) का अध्ययि कीविए। 

िीचे वदए र्ए विकल्पो ंमें से सही विकल्प का चयि कीविए : 

अविकथि (A) : परवमट लाइसेंस राि के अत्यविक विवियमि िे कुछ वििी फमों को प्रवतस्पिी बििे से रोका 

था। 

कारण (R) : वििी के्षि िे उत्पाद की रु्णििा ि अंतरराष्ट्र ीय प्रवतस्पिागत्मकता में िृस्थद्ध करिे के बिाय लाइसेंस 

प्रास्थप्त में महत्वपूणग समय बबागद वकया था। 

निकल्प : 

(A) अविकथि (A) और कारण (R) दोिो ं सत्य हैं और कारण (R), अविकथि (A) की सही व्याख्या है। 

(B) अविकथि (A) और कारण (R) दोिो ंसत्य हैं, लेवकि कारण (R), अविकथि (A) की सही व्याख्या नही ंहै। 

(C) अविकथि (A) सत्य है, लेवकि कारण (R) असत्य है। 

(D) अविकथि (A) असत्य है, लेवकि कारण (R) सत्य है। 

उत्तर : (A) अनिकर्न (A) और कारण (R) दोनो ंसत्य हैं और कारण (R), अनिकर्न (A) की सही 

व्याख्या है। 

 

 

 

 

 

 

 

 

 

 

1 

26. विम्नवलस्थित कथिो ंका ध्यािपूिगक अध्ययि कीविए : 

कथि 1 : िारतीय कृवर् के व्यािसायीकरण के वलए विवटश िीवतयााँ वििेदार थी।ं 

कथि 2 : िारतीयो ंके व्यापक वहतो ंके वलए, विवटश शासको ंिे िारत की आिाररक-संरचिा के विकास पर 

ध्याि कें वद्रत वकया था। 

वदए र्ए कथिो ंके आलोक में, विम्नवलस्थित में से सही विकल्प का चयि कीविए : 

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 दोिो ंसत्य हैं। 

(D) कथि 1 और 2 दोिो ंअसत्य हैं। 

उत्तर: (A) कर्न 1 सत्य है और कर्न 2 असत्य है। 

 

 

 

 

 

 

 

 

1 

27. विम्नवलस्थित कथिो ं– अविकथि (A) और कारण (R) का अध्ययि कीविए। 

िीचे वदए र्ए विकल्पो ंमें से सही विकल्प का चयि कीविए : 

अविकथि (A) : मािि पूाँिी में वििेश में वििेकपूणग विणगय लेिे के वलए सूचिा महत्वपूणग िूवमका वििाती है। 

कारण (R) : लोर् िम बािार ि अन्य के्षिो ंिैसे वशक्षा तथा स्वास्थ्य के बारे में सूचिा प्राप्त करिे के वलए वििेश 

करते हैं। 

विकल्प : 

(A) अविकथि (A) और कारण (R) दोिो ंसत्य हैं और कारण (R), अविकथि (A) की सही व्याख्या है। 

(B) अविकथि (A) और कारण (R) दोिो ंसत्य हैं, लेवकि कारण (R), अविकथि (A) की सही व्याख्या नही ं

है। 

(C) अविकथि (A) सत्य है, लेवकि कारण (R) असत्य है। 

(D) अविकथि (A) असत्य है, लेवकि कारण (R) सत्य है। 

उत्तर: (A) अनिकर्न (A) और कारण (R) दोनो ंसत्य हैं और कारण (R), अनिकर्न (A) की सही 

व्याख्या है। 

 

 

 

 

 

 

 

 

 

 

1 

28. 

 

पावकस्ताि में र्रीबी के उद्भि के वलए वज़िेदार कारणो ंकी व्याख्या कीविए l  

उत्तर: पानकस्ान की अर्िव्यिस्था में गरी ी के उद्भि के कारण रे्:  

• पानकस्ान ने असमान कृनष निकास ि खाद्य आपूनति की म्मस्थनत का सामना नकया जो अच्छी 

िसल पर ननििर र्ी न नक तकनीकी पररितिन की संस्थागत प्रनक्रया पर। 

• पानकस्ान की पे्रषण पर अत्यनिक ननििरता, निदेशी ऋणो ंमें िृम्मि तर्ा ऋणो ंको िापस चुकाने 

में  ढ़ती कनठनाई की समस्याओ ंका सामना करना पड़ा। 

                (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 

(अन्य कोई िैि कारण को िी अंक प्रदान नकए जाएाँ  l ) 

 

 

3  
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29. 

(क) 

 

 

 

 

 

 

 

 

(ख) 

“विवटश शासि के अंतर्गत, िारत को व्यिस्थस्थत आवथगक शोर्ण का सामिा करिा पडा, इसके साथ संसािि 

ि िि संपदा विटेि हस्तांतररत वकए र्ए थे।” 

वदए र्ए कथि की िैि स्पवष्ट्करण द्वारा पुवष्ट् कीविए। 

उत्तर: औपननिेनशक काल के दौरान, िारत के संसािनो ंऔर संपदा का दोहन करके निटेन िेज नदया 

गया l िारत को कचे्च माल के ननयाितक और निटेन से तैयार औद्योनगक उत्पादो ंके आयातक के रूप 

में पररिनतित नदया गया । इसके अनतररक्त, ननयाित अनिशेष होने के  ािजूद िी िारत में सोने या चांदी 

का कोई प्रिाह नही ंहुआ।  म्मि, इस िन का उपयोग औपननिेनशक सरकार द्वारा िारत में प्रशासन 

पर नकए गए खचों, युिो ंपर व्यय तर्ा अदृश्य िसु्ओ ंके आयात के नलए नकया गया, नजसके कारण 

िारतीय सम्पदा का निटेन में अपिाह हो गई l           (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 

अर्िा 

1991 के सुिारो ंमें िारत सरकार द्वारा अपिाई र्ई ििरत्न िीवत का मूल्यांकि कीविए। 

उत्तर: 1991 के सुिारो ंमें, सरकार ने, कुछ साििजननक के्षत्र के उद्यमो ंकी पहचान की, तर्ा, दक्षता में 

सुिार, व्यािसानयकता को प्रोत्सानहत करने और उदार िैनिक िातािरण में अनिक प्रिािी ढंग से 

प्रनतस्पिाि करने में सक्षम  नाने हेतु, उन्हें ‘निरत्न’ घोनषत नकया। इन उद्यमो ं को कुशलतापूििक चलाने 

और लाि को  ढ़ाने के नलए, उन्हें, निनिन्न ननणिय लेने में अनिक प्र ंिकीय ि पररचालन स्वायत्तता प्रदान 

की गई। निरत्न का दजाि नदए जाने से इन उद्यमो ंका प्रदशिन  ेहतर हुआ। 

               (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 

 

 

 

 

3 
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30. 

(क) 

 

 

 

 

 

 

 

 

 

 

 

(i) मािि पंूिी ि िौवतक पंूिी में अंतर स्पष्ट् कीविए। 

उत्तर: मानि पंूजी से तात्पयि उस ज्ञान, कौशल और योग्यता के िंडार से है जो उसके स्वामी में समानहत 

है, अर्ाित मानि पंूजी अपने स्वामी से अनििाज्य है। इसे  ाजार में क्रय/ निक्रय नही ंनकया जा सकता, 

केिल इसकी सेिाओ ंका  ाजार में क्रय/ निक्रय नकया जा सकता है।  

ज नक; 

िौनतक पंूजी िे संपनत्तयााँ (प्ांट और मशीनरी, ििन आनद) हैं, जो प्रकृनत में मूति हैं। यह अपने स्वामी 

से अलग है। इसका  ाजार में क्रय-निक्रय नकया जा सकता है। 

 

(ii) ग्रामीण के्षिो ंमें ‘LPG’ ि ‘र्ोबर रै्स’ का िारणीय विकास प्राप्त करिे के वलए उपयोर् की िािे िाली 

रणिीवत के रूप में िणगि कीविए। 

उत्तर: ‘LPG’ एक स्वच्छ ईिंन है जो घरेलू ईिंन के प्रदूषण को कािी हद तक कम करता है और ऊजाि 

के अपव्यय को कम करता है। गो र गैस प्ांट को चलाने के नलए, मिेनशयो ंके गो र को प्ांट में डाला 

जाता है और गैस  नाई जाती है नजसका उपयोग ईिंन के रूप में नकया जाता है तर्ा जो  च जाता है, 

िह अिशेष एक  हुत अच्छा जैनिक खाद और मृदा संिििक है। 

 (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 
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 अर्िा 4 

(ख)  (i) ग्रामीण िारत में सूक्ष्म-साि (micro-credit) कायगक्रमो ंका आलोचिात्मक मूल्यांकि कीविए।  

उत्तर: सूक्ष्म साख कायिक्रम औपचाररक ऋण प्रणाली में मौजूद कनमयो ंको पूरा करते हैं। ऋणािार की 

कमी के कारण ग्रामीण पररिारो ंका एक  ड़ा िाग साख व्यिस्था से  ाहर हो जाता है। सूक्ष्म साख 

प्रणाली इन ननििन पररिारो ंको सस्ी ब्याज दर पर ऋण प्रदान करके औपचाररक ऋण प्रणाली के 

दायरे में लाती है। हालांनक, यह आलोचना की जाती है नक ऋण मुख्य रूप से उपिोग उदे्दश्यो ंतक ही 

सीनमत है।              (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 

(ii) िारणीय विकास के अथग का उले्लि कीविए। 

उत्तर: िारणीय निकास िह निकास है, जो िािी पीढ़ी की क्षमता से समझौता नकए न ना ितिमान पीढ़ी 

की आिश्यकताओ ंको पूरा करता है। 
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31. 

 

 

 

 

वदए र्ए र्द्य का ध्यािपूिगक अध्ययि कीविए ि विम्नवलस्थित प्रश्ो ंके उिर दीविए : 

तीव्र र्वत से िृस्थद्धमाि ििसंख्या के प्रवत-उिर में, चीि िे ‘एकल संताि िीवत’ प्रारंि की थी। इस िीवत के 

अंतर्गत युर्लो ं(couples) को केिल एक ही संताि पैदा करिे की अिुमवत प्रदाि की र्ई थी। इस िीवत िे चीि 

को ििसंख्या िृस्थद्ध को वियंवित करिे में सहायता की थी। 
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इस िीवत के महत्वपूणग पररणाम िी उत्पन्न हुए, िैसे वक िृद्धो ंकी अविक ििसंख्या, पुिो ंको प्राथवमकता देिे 

के कारण वलंर् असंतुलि एिं एकल संतािो ंके वलए सामाविक चुिौवतयााँ आवद। 

2015 में इस िीवत में ढील दी र्ई, विससे सिी युर्लो ंको दो संताि पैदा करिे की अिुमवत वमल र्ई थी तथा 

2021 में इसे और वशवथल करके तीि संतािो ंतक कर वदया र्या था। 

कुल वमलाकर, िबवक एकल संताि िीवत िे ििसंख्या िृस्थद्ध को वियंवित करिे के अपिे प्राथवमक लक्ष्य को 

प्राप्त वकया था, परंतु इसिे ििसांस्थख्यकीय ि सामाविक चुिौवतयो ंका एक िवटल समूह िी उत्पन्न वकया 

विसका सामिा चीि आि िी कर रहा है। 

 

(क) चीि में एकल संताि िीवत के कायागन्वयि के पररणामो ंको समझाइए। 

उत्तर: चीन में एकल संतान नीनत के कायािन्वयन से चीन की जनसंख्या िृम्मि दर में िारी नगरािट आई। 

नकनु्त, इस नीनत के कई प्रनतकूल प्रिाि िी हुए, जैसे नक, िृि जनसंख्या का उच्च अनुपात, पुत्र को 

प्रार्नमकता देने के कारण नलंग असंतुलन तर्ा एकल संतान के नलए निनिन्न सामानजक चुनौनतयााँ 

आनद।              (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 

(ि) चीि में एकल संताि िीवत के कायागन्वयि के वकसी एक कारण का उले्लि कीविए। 

उत्तर: चीन में एकल संतान नीनत तीव्र गनत से  ढ़ती हुई जनसंख्या पर अंकुश लगाने के नलए लागू की 

गई र्ी। 
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32. 

 

मान्य तकों द्वारा, उले्लि ि विसृ्तत व्याख्या कीविए वक विम्नवलस्थित कथि सत्य है अथिा असत्य :  

(क) िैविक कृवर् महंरे् कृवर् आर्तो ंको स्थािीय स्तर पर उत्पावदत िैविक आर्तो ंसे प्रवतस्थावपत करिे का 

एक सािि प्रदाि करती है l  

उत्तर: सत्य। जैनिक कृनष, महंगे कृनष आगतो ंजैसे HYV  ीज, रासायननक उििरक ि कीटनाशक आनद 

को स्थानीय स्र पर उत्पानदत जैनिक आगतो ंसे प्रनतस्थानपत करने का एक सािन प्रदान करती है, जो  

नक ससे् होते हैं तर्ा इनसे ननिेश पर अच्छा प्रनतिल नमलता है। 

 

(ि) िारत में कायगबल के अिौपचाररकरण िे देश के युिाओ ंके मध्य रोिर्ार सृिि के मोचे पर विविन्न वचंताओ ं

में िृस्थद्ध की है। 

उत्तर: सत्य। कायि ल के अनौपचाररकीकरण ने युिाओ ंमें रोज़गार सुरक्षा को लेकर नचंता  ढ़ा दी है। 

इससे कम आय और सामानजक सुरक्षा लािो ंसे िंनचत रह जाने की समस्या उत्पन्न होती है। 
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33. 

 

 

 

 

 

 

 

 

 

 

 

विम्नवलस्थित र्द्य का ध्यािपूिगक अध्ययि कीविए : 

 

आिविक िम बल सिेक्षण के आंकडो ंके अिुसार, विर्त छः  िर्ों में, िारतीय िम बािार संकेतको ंमें सुिार 

हुआ है। 2022 – 23 में बेरोिर्ारी दर घट कर 3.2% हो र्ई है। कायगबल में युिाओ ंि मवहलाओ ंकी िार्ीदारी 

में िृस्थद्ध से ििसांस्थख्यकीय ि लैंवर्क लािांश का लाि उठािे के अिसर प्राप्त हुए हैं। फैक्ट्र ी रोिर्ार आंकडे 

वििीय िर्ग 2022 – 23 में संर्वठत विविमागण के्षि में उछाल को दशागते हैं। इसके साथ ही रोिर्ार में िृस्थद्ध के 

कारिािो ंका विस्तार  है। 

विर्त पांच िर्ों में EPFO के अंतर्गत शुद्ध िेति प्राप्त करिे िाले दोरु्िे से अविक हो र्ए हैं, िो वक स्वस्थ 

विकास ि औपचाररक रोिर्ार का संकेत है। 

रु्णििापूणग रोिर्ार सृिि करिे ि उसे बिाए रििे के वलए कृवर्-प्रसंस्करण ि देिबाल अथगव्यिस्था के दो 

आशाििक विकल्प हैं। 

वदए र्ए र्द्य ि सामान्य ज्ञाि के आिार पर, विम्नवलस्थित प्रश्ो ंके उिर दीविए : 

 

(क) िारतीय कायगबल में बढ़ती हुई युिा ि मवहला िार्ीदारी का कोई एक महत्व बताइए। 

उत्तर: िारतीय कायि ल में युिाओ ंऔर मनहलाओ ंकी  ढ़ती िागीदारी जनसांम्मख्यकीय और लैंनगक 

लािांश का लाि उठाने का अिसर प्राप्त हुए हैं। 

 

(ि) िारत में रु्णििापूणग रोिर्ार सृिि हेतु आशाििक मािे िािे िाले वकन्ही ंदो के्षिो ंकी पहचाि कीविए। 

उत्तर: िारत में गुणित्तापूणि रोजगार सृजन के नलए आशाजनक दो के्षत्र : 
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• कृनष प्रसंस्करण  

• देखिाल अर्िव्यिस्था  

 

(र्) उपयुक्त उदाहरण की सहायता से प्रच्छन्न बेरोिर्ारी के अथग की विसृ्तत व्याख्या कीविए। 

उत्तर: प्रच्छन्न  ेरोजगारी से तात्पयि ऐसी म्मस्थनत से है ज  कोई व्यम्मक्त कायिरत तो है नकनु्त उत्पादन में 

कोई योगदान नही ंदे रहा है, अर्ाित उसकी सीमांत उत्पादकता शून्य है। उदाहरण के नलए, मान लीनजए 

नक एक नकसान चार एकड़ िूनम और दो मजदूरो ंके सार् 100 नवंटल गेहं का उत्पादन करता है। अगर 

िह एक और मजदूर को काम पर रखता है, त  िी कुल उत्पादन अपररिनतित रहता है। इस म्मस्थनत में, 

कुल उत्पादन में अनतररक्त मजदूर द्वारा नकया गया योगदान शून्य है और इस प्रकार इसे नछपी हुई 

 ेरोजगारी की म्मस्थनत कहा जा सकता है।         (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 
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34. 

(क) 

 

 

 

 

 

 

 

 

 

 

(i) “िैश्वीकरण की प्रवक्रया से िारतीय अथगव्यिस्था को अतं्यत लाि प्राप्त हुआ है.”  

मान्य तकों द्वारा वदए र्ए कथि को वसद्ध कीविए l  

उत्तर: िैिीकरण की प्रनक्रया ने िारतीय अर्िव्यिस्था के नलए सकारात्मक पररणाम उत्पन्न नकए हैं।  

सीमामुक्त निि की रचना से, िारतीय अर्िव्यिस्था की, िैनिक  ाजारो ंतर्ा निीनतम प्रौद्योनगकी तक 

पहुाँच  ढ़ गई है। इसके अलािा, अर्िव्यिस्था के खुलने से प्रत्यक्ष निदेशी ननिेश और निदेशी मुद्रा िंडार 

में तीव्र गनत से िृम्मि हुई है।           (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 

 

(ii) बहुपक्षीय व्यापार ि वद्व-पक्षीय व्यापार में अंतर स्पष्ट् कीविए। 

उत्तर:  हुपक्षीय व्यापार एक देश द्वारा दो से अनिक देशो ंके सार् िसु्ओ ंऔर सेिाओ ंका आदान-

प्रदान करने के नलए नकया जाने िाला व्यापार है।  

ज नक ; 

नद्वपक्षीय व्यापार से तात्पयि दो देशो ंके  ीच िसु्ओ ंऔर सेिाओ ंके आदान-प्रदान करने के नलए नकए 

जाने िाले व्यापार से है। 
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 अर्िा 6 

(ख) (i) 1991 के उपरांत अिवि में िारत सरकार द्वारा वकए र्ए विदेशी मुद्रा के सुिारो ंपर संके्षप में चचाग कीविएl  

उत्तर: 1991 के  ाद िारत सरकार द्वारा नकए गए निदेशी मुद्रा सुिार ननम्ननलम्मखत रे्: 

• िुगतान संतुलन संकट का समािान करने हेतु एक तात्कानलक उपाय के रूप में, निदेशी 

मुद्राओ ंकी तुलना में रुपये का अिमूल्यन नकया गया। इससे निदेशी मुद्रा के अंतिािह में िृम्मि 

हुई। 

• रुपये के मूल्य के ननिािरण के नलए निदेशी मुद्रा  ाजारो ंको सरकारी ननयंत्रण से मुक्त कर नदया 

गया। निननमय दरें  निदेशी मुद्रा की मांग और आपूनति की  ाजार शम्मक्तयो ं के माध्यम से 

ननिािररत की जाती हैं।                   (पूरे उत्तर को एक सार् अंनकत नकया जाए l) 

 

(ii) प्रशुल्क (Tariffs) ि कोटा (Quotas) में अंतर स्पष्ट् कीविए l  

उत्तर: प्रशुि (Tariffs): आयानतत िसु्ओ ंपर लगाया जाने िाला कर है जो आयानतत िसु्ओ ंको 

महंगा  नाता है और उनके उपयोग को हतोत्सानहत करता है।  

ज नक; 

कोटा(Quotas): कोटा आयात की जा सकने िाली िसु्ओ ंकी मात्रा को नननदिि करता है। 
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* * * 


